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Physics

10th Class 2014
| Group-|

ime: 20 Minutes |(OBJECTIVE TYPE) Marks: 12

Note: Four possible answers A, B, C and D to each

question are given. The choice which you think is

~correct, fill that circle in front of that question with

Marker or Pen ink. Cutting or filling two or more
circles will result in zero mark in that question.

(i)

(iv)

)

(vi)

{vii)

A megabyte has how many kilo bytes:

(a) 1004 ~ (b) 1014

(c) 1024V (d) 1034

The half-life of Plutonium %Pu in years is:
(a) 0.85 (b) 1.85

(c) 285V . (d) 3.85

The output of OR gate will be 0 when:
@) A=0,B=0V (b) A=1,B=1
(c) A=0,B=1 (d) A=1,B=0
Waves transfer:

(a) Frequency (b) Wavelength

(c) Velocity (d) Energy v
The refractive index of diamond is:
@ 152 - (b) 1.66

(c) 242V (d) 2.21

Give the number of factors Which affect the

“ability of a capacitor to store charge:

(@) 2 . (b) 3V

(c) 4 gt d) 5 ;
Which thing works on the “principle c?f
electromagnetic induction in hydroelectric
pPower house: | -

(a) Motor (b) Generator v

(¢) Galvaniccell (d) Voltaic cell
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(viii) What does the term e-mail stand ror:
(a) Electronic mail v
(b) Emergency mail
- (c) Extra mail
(d) External mail | |
(ix) In simple pendulum, motlon restormg force s

provided by:
(a) Airresistance (b) Tension in strlng
~ (c) Inertia (d) Weight of body v
(x) The electnc power of washlng machine in watt
is:
(a) 50 (b) 750 J
(c) 100 (d) 800
(xi) Capacutance is defined as:
(a) vC (b) v ‘/
Vv
(EPQYSEE 55 A
(xii) The intensity level of train siren is:
(@) 150dB . (b) 130 dB

(c) 100dB (d) 120dB v
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